i La multiplication : techniques. !
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- nx5=(nx10):2 ‘
638 x5 = (638 %10)..0. 253090 e
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- nx50=(nx100):2 i

356 x 50 = (35&?&%\3%&:0
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: n x 500 = (n x 1 000) : 2
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32,6 X500 = .. 9200525 A6 30 i

! 0,69x500=..090.2.=. M5 o
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5 nx9=(nx10)-n
a6x9=(46x40).=.%6. . bay i

2,6x9 = .@,.6?&)..—....&&..; ..... -1 ——
 nx99=(nx100)-n

436 x99 = (4% x o0 )= 456243968 oo
6349 = 080-0,3 5 b Ah T

. nx 999 = (nx 1000) - n
| 31%999 =..31.000.2.30.2.30.969 .o
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e x11 x101 x1001

nxll=(nx10)+n
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Et bien d'autres ...
e X4-X6—-%Xx8—-x12-x15-x20—-x21-...

nx4 =2 nx2x2 [ 5 1 S —
nx6 =2 nx3x2 Bl

nx8 2 nx2x2x2 DR = i s st
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18 2 @x10)+(57) BX15 = i
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5 2 (mx20)+n MBI i
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